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1. Solve the differential equation and satisfy the conditions, i
=
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2, Using Laplace transforms, find x(t) and y(t) which satisfied the given
equation and conditions,
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3. Find the eigenvalugs and eigenvectors of the following matrices,
3z -24 -8
16 -11 —4 (15%)
72 57 -18

4. Represent the following function f(x) by (1) Fouries sine series, (2)

Fouries cosine series, and (3) complete Fouries series and sketches the
responding periodic extension of f(x).

f(x)=x+1 0<xsgl (15%)
5. Use residue calculus to evaluate the integration
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6. Solve the partial differential cquation with the conditions as following,

T 19T
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Iniial  Contion : T(x,0)=T, (constant): (15%)
Boundary Condition : T{Q,t)=0 (1>0Q)

7. Find the values of the following integration,
(a) §I(1+ y)zdx +(1+ z)xdy + (1 + x)ydz)]
C
where C: x=cosB ,y=sin0 .z=1. (8%)

(b) 4f7+fdo

where F:?Zg'f‘y]‘i-?_k"; 50 xty y?+;;’ =4,



